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SN SE4EHHE
HA: SCUELS(FEUNANL/NALTA)
o9 STYRAL (e @e
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
308 XHXIEHHI SOl A 60,715 60,715 0
=2 50,000
= 10,715
01 RXESHBABES 60,715 60,715 0
OSEXo%A2Y X2 60,715
= 50,000
= 10,715
ScH2YN 1,214,286 743,000 471,286
= 1,000,000
= 214,286
308 XIXIEHHI SOl & 1,214,286 743,000 471,286
= 1,000,000
= 214,286
01 RXESHBABES 1,214,286 743,000 471,286
OSc22lL2YX 2 1,214,286
=2 1,000,000
= 214,286
SCEIBAMNRAES 4,250,000 850,000 3,400,000
= 3,500,000
= 750,000
403 XX SHHIS K20 4,250,000 850,000 3,400,000
= 3,500,000
= 750,000
01 XEXISHAXHE 2 X 4,250,000 850,000 3,400,000
OSSEIBANRLLT 4,250,000
=2 3,500,000
= 750,000
LS EREH 3,057,000 3,643,000 586,000
= 3,000,000
= 57,000
403 XX SHHIS K20 3,057,000 3,643,000 586,000
= 3,000,000
= 57,000
01 XEXISHHXZ 2 X 3,057,000 3,643,000 586,000
m[E=EIER I 3,057,000
=2 3,000,000
= 57,000
SCHEETY 350,000 0 350,000
= 350,000
403 RHXISHSRZ0IH 350,000 0 350,000
= 350,000
01 XEXISHHXE 2 X 350,000 0 350,000
OSEHEEXY 350,000
= 350,000
HHLSSFU(STLSUE)(JIEHIIE 31,000 45,570 ~14,570
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SH-EH . C(BH) - NRAY - BES O AF o8 il b o bRz
o= 2| 31,000 45,570 A14,570
o=l 31,000 45,570 A14,570
201 L2y 21,000 19,870 1,130
01 ALR eIt 21,000 19,870 1,130
mETEER= 12,000
O3ANERAS 12,000
mEET 7,000
OSE45L =2 Y| 7,000
Dexe 2,000
SNEESIFIELT 2,000
202 01t 10,000 10,000 0
01 2UhoiH| 10,000 10,000 0
mEIE 10,000
OSE4+5Y2ET0lY) 10,000




